1
Bottled water is very expensive. It is estimated that a family of four could spend £3.00 a day on bottled water during the summer months, especially if they bought the more expensive brands. In addition, a number of surveys have suggested that there are more impurities and harmful bacteria in many brands of bottled water than there are in plain tap water. It is obviously sensible not to buy bottled water and to use tap water instead. If one has a preference for ‘sparkling’ water, there are a number of products one can buy which will add some ‘fizz’ to ordinary tap water.

Which of the following expresses the main conclusion of the above argument?

A
It is not necessary to buy bottled water if one wants to drink sparkling water.

B
It makes sense to use tap water rather than buying bottled water.

C
Many bottled waters contain impurities not found in tap water.

D
Bottled water is over-priced in comparison with other products.

E
Tap water tastes just as good as bottled water.
2 
It is essential that the United Kingdom maintains the ability to produce electricity from several sources. This would avoid the danger of an under-supply of electricity and subsequent power cuts. If the government succeeds in implementing a policy of keeping many ways of generating electrical power available, we will be guaranteed an uninterrupted flow of electricity in the future.

Which of the following is the best statement of the flaw in the above argument?

A 
The government might fail to implement a policy of generating electricity from a variety of sources.

B 
There are other forms of power which could be used as a substitute for electricity, e.g. gas.

C 
There may be other reasons why the flow of electrical power could be interrupted.

D 
Many countries have to rely on only one or two means of generating electrical power.

E 
We should reduce our use of electricity rather than seeking ways of maintaining existing output.
3 
For many years now, Britain has suffered a ‘brain drain’ of scientists attracted by the higher financial rewards of working in other countries. The Government has recently announced that it is investing £1 billion pounds in science to raise scientific salaries to internationally competitive levels. It is also increasing the grant for science PhD students from £6620 to £9000 per annum. This will stop the brain drain and ensure that scientists stay in this country.

Which of the following is an underlying assumption in the above argument?

A 
The most important incentive to go to another country is financial.

B 
All the best British scientists have gone abroad to work.

C 
The financial incentive is sufficient to persuade scientists to return to Britain.

D 
Only scientists have been attracted by high financial rewards in other countries.

E 
Creative scientific ability is encouraged largely by financial incentives.
4 
When an animal is frightened or distressed it produces high levels of adrenalin in its bloodstream. National Hunt racing involves making horses jump over high fences. Tests on such racehorses after they have been racing show that they have very high levels of adrenalin. This proves that horses find National Hunt racing a frightening and stressful activity. On animal welfare grounds we should therefore strive to get this sport banned.

Which of the following, if true, would most strengthen the above argument?

A 
If horses lose their riders they continue to race along the racecourse.

B 
High levels of adrenalin are found in horses after they have ridden normally.

C 
Horses in the wild avoid jumping fences unless they are in danger.

D 
Racing is an unnecessary activity and is not an important contributor to the economy.

E 
The Royal College of Veterinary Surgeons has no objections to National Hunt Racing. 

5 
A recent survey of 700 hospital buildings in the National Health Service revealed that 250 were given the lowest grade for sanitation, tidiness of wards, state of litter collection and freshness of bed linen. One inspector found pigeons in a canteen and ‘absolutely filthy’ toilets. This lack of hygiene increases the risk of infection. Anybody experiencing these conditions is justified in fearing that they will be in danger of catching a life-threatening infection when in hospital and this must add to the stress of being there.

Which of the following is a conclusion that can be drawn from the above passage? 
A 
A stay in hospital is more likely to make one ill rather than cure the condition.

B 
If patient facilities, e.g. wards and toilets were hygienic and clean, the risk of infection would be eliminated.

C 
Standards of cleanliness have declined since the National Health Service was founded.

D 
Patients would benefit both psychologically and physically if cleanliness standards improved.

E 
Levels of medical competence in the National Health Service are sub-standard and in need of improvement.
6 
Science documentaries like the BBC’s ‘Dinosaurs’ have been a great success in the sense that they have drawn mass audiences. However, in trying to make science entertaining they have distorted and even mis-stated scientific facts. There is not much point in getting people interested in science if they end up with a false perception of what scientific knowledge reveals about the world. Therefore it is better if science is left to the classroom where it properly belongs.

Which of the following is an underlying assumption in the above argument?

A
The interest created by such documentaries will not be sustained.

B
Teachers do not distort scientific facts in order to be entertaining.

C
Documentary makers are interested only in entertainment.

D
Science cannot be both correct and entertaining.

E
Scientific knowledge always gives a correct account of the world.

7 
In the Royal Navy, women are not allowed to serve in nuclear-powered submarines. This is because the level of radio-activity found in these submarines is sufficiently high to pose a potential threat to any unborn child they may be carrying in the event of their being unknowingly pregnant. However, there can be no contention that this represents a denial of equal opportunities for women in the submarine section of the navy since women are allowed to serve in diesel or electric-powered submarines.

Which of the following, if true, would most weaken the above argument?

A 
Women naval personnel are still in the minority within the Royal Navy.

B 
The highest-ranking submarine officers must have had experience in nuclear submarines.

C 
The level of radiation in nuclear-powered submarines would present a health and safety hazard for male personnel.

D 
Women serve on nuclear submarines in other navies in the world.

E 
Women are allowed to work in other situations where there is radio-activity.
8 
There is considerable concern about the dangers of using mobile phones when driving. Many accidents have been caused by people driving whilst holding their phone in order to make or take calls. Some people even argue that ‘hands-free’ mobile phones (which enable a driver to dial a number and speak without taking their hands off the wheel) still present a danger. However, studies show that having a conversation on a ‘hands-free’ mobile phone is no more distracting than talking to a passenger. We should not object to the use of ‘hands-free’ mobile phones. Relative to the conventional mobile phone it actually contributes to increased road safety.

Which of the following is the best expression of the main conclusion in the above argument?

A 
‘Hands-free’ mobile phones are a contribution to increased road safety.

B 
The use of ‘hands-free’ mobile phones in cars should not be opposed.

C 
The use of ‘hands free’ mobile phones causes no distractions for drivers.

D 
The use of ‘hands free’ mobile phones should be actively encouraged.

E 
Using ‘hands free’ mobile phones in cars is no more distracting than having an ordinary conversation.
9
Biodegradable products, i.e. ones that rot away naturally when they are disposed of, are often seen as a key weapon in the efforts to protect the environment. However, these products are in danger of encouraging a ‘throwaway’ mentality. True conservation involves an effort to use fewer goods not just to make sure goods when discarded do not harm the environment. This is because there are environmental costs in production e.g. transporting goods and pollution. We must therefore concentrate on recycling goods as a key policy in eliminating the environmental costs of production.

Which of the following is an underlying assumption in the above argument?

A 
Bio-degradable products do not contribute to efforts to protect the environment.

B 
All products are capable of being produced out of bio-degradable materials.

C 
A policy of recycling means fewer goods are produced.

D 
Recycling as a policy will succeed in saving the environment.

E 
There is a widespread awareness of the need to protect the environment.
10 
Many people argue that we should strive to develop space exploration to the point where scientists can land on other planets thus enabling us to explore our solar system more effectively. However, such a policy poses dangers to the personnel involved and is extremely expensive. Remote devices such as robots have collected very useful scientific data from planets (for example, Mars) for much less cost. Therefore we should abandon the idea of ‘manned’ space exploration in favour of dropping remote exploration devices on other planets.

Which of the following, if true, would most weaken the above argument?

A 
Much of the data collection for research projects on Earth can be undertaken only by scientists.

B 
Great discoveries that would benefit humanity might result from scientists exploring other planets.

C 
Any space research is expensive and uses up resources better spent on projects on Earth.

D 
There may be many planets where it is possible to sustain human life for scientific exploration purposes.

E 
Remote devices can be regularly maintained by scientists on Earth.
11 
The idea of life existing on other planets near to Earth has always been in the realm of science fiction rather than real science. However, the idea that there could be primitive life forms on other planets in the solar system is now taken seriously by scientists. It has been discovered that simple life forms can survive in extreme environments on earth such as beneath the ice of Antarctica or around deep-sea vents where heat escapes from the Earth’s interior. It follows that such life forms could be found on other planets once considered too inhospitable to life. The science of astrobiology, as the scientific study of extra-terrestrial life is called, looks set to become increasingly accepted within the scientific community. This is shown by the European Space Agency funding it is now receiving.

Which of the following expresses the main conclusion of the argument in the above passage? 
A 
Life forms could be found on other planets once considered inhospitable to life.

B 
Scientists now take seriously the idea that there could be life on other planets in the solar system.

C 
Primitive life forms can survive in environments once considered impossible for life.

D 
Astrobiology will become increasingly acknowledged as a worthwhile science.

E 
The funding that astrobiology receives shows that it is now supported by the European Space Agency.

12 
It seems likely that virtual reality technology will develop to the extent that it will be impossible to detect any difference between it and genuine reality. Implants in the brain will mean that a virtual trip to, for example, the Yorkshire Dales will be experienced as a real trip to the Yorkshire Dales. This will be just as well because developments such as modern intensive agriculture will mean the traditional English countryside will no longer exist. Moreover, the virtual reality trip will be guaranteed to be in perfect conditions. Some would argue that this is a nightmare scenario but we should recognise the benefits for future generations. It probably represents the only way that they will be able to experience the English countryside in a totally unspoilt form. Moreover, they won’t realise it is not real.

Which of the following is the best statement of the main conclusion of the above argument?

A
Virtual reality technology is developing in a nightmarish direction.

B
It will be impossible to tell that a virtual reality trip is not real in the future.

C
The English countryside will not survive in its present form.

D
Virtual reality has considerable advantages over actual reality.

E
The benefits of virtual reality for future generations should be acknowledged.
13 
The weight-loss promoting drug, Relenza, is very expensive. As a result the government drug- monitoring agency, NICE, has decided that the drug should be given only to people who are in imminent danger of losing their lives as a result of being over-weight. We can conclude, therefore, that anybody who receives the drug will be so above the average weight for their height that vital organs are in danger of failing.

Which of the following is an underlying assumption of the above argument?

A 
All doctors will prescribe the drug to their patients as a replacement for existing treatments.

B 
There are no psychological grounds for prescribing the drug according to NICE’s criterion.

C 
The drug is always successful in tackling problems of obesity in patients.

D 
It is right that expensive drugs are prescribed in a limited manner.

E 
Relenza is the best form of treatment for anybody with a weight problem.
14 
Many people object to developments in farming. However they seem to overlook the fact that when farming was ‘organic’, the population stagnated at around 3,000,000 in Britain over several centuries. In the late 18 century farming methods in Britain were modernised and at the same time the population of the country grew considerably. This population growth enabled the development of a large-scale industrial economy. If we value the advantages such an economy brings, in terms of standards of living, we should welcome later developments such as modern intensive farming. They represent the most recent of a long line of agricultural innovations that have contributed to economic and social development.

Which of the following, if true, would most weaken the above argument?

A 
Modern intensive farming methods involve considerable cruelty to animals.

B 
Some agricultural changes have not always been popular.

C 
Industrial development of the late 18 century contributed to the growth of the population.

D 
The population of Britain is likely to decline within the next fifty years.

E 
Only a small minority of the British workforce is now employed in agriculture.
15 
The debate over genetically modified (GM) food has not always been conducted in a rational way. Opponents of GM food are too happy to see the issue in terms like ‘the poisoning of the environment’ without a proper evaluation of the evidence. Supporters of GM might be unprepared to consider any possibility of danger in the use of GM crops. But in the end we have to stop talking about GM and act: we must either have or not have GM foods. We have to make a decision. Most people will accept decisions if the quality of the supporting argument is good. So if this decision is sufficiently justified, then we should be able to persuade most people to accept the decision.

Which of the following is the best expression of the author’s use of the word ‘justified’ in the above argument?

A
Explained to people who would disagree with it.

B
Based on a wide range of scientific evidence.

C
Based on giving good reasons for the decision.

D
Strong in order to show that opposing arguments are false.

E
Expressed in language that most people will understand.
16 
Many multi-national corporations do not actually make anything any more. They merely provide a label by which a product made by somebody else will be recognisable throughout the world as a result of media advertising — this is called ‘branding’. Therefore manufacturers in places like Indonesia sell ‘unbranded’ goods such as jeans and trainers to companies like Nike for a fraction of what they will be eventually sold for. In order to counteract this situation where marketing a product now costs more than the product itself, we should strive to buy unbranded goods direct from manufacturers. This is especially true of those developing countries which are dependent on multinational companies as an outlet for their products

Which of following is a further conclusion that can be drawn from the above passage?

A 
Branding is confined as a process to manufactured goods such as shoes and clothes.

B 
The cost of advertising makes up the main share of the price consumers eventually pay for goods.

C 
Workers in developing countries are paid wages that keep them below the ‘poverty line’.

D 
Goods supplied directly by manufacturers in developing countries are readily available to the consumer.

E 
Developing countries should create organisations to sell their goods directly to consumers.

